=X
ey

01-02 GMC 2500 HD REPL.

BATTI.EMAN INSTAI.I.ATION SHEET 3a s

Installation Wrap Lic Plate
2-1/2x2"Bolt 2-1/84"x 3/4"Bolt
2-1/2"Nut 2-1/4 Nut
2-1/2"Lock Washer 2 - 1/4 Lock Washer
4- 1/2"Flat Washer 2 - 1/4 Flat Washer

Step1 Remove factory bumper
Step 2 Place front end replacement bumper to the front end of your truck

Step 3 Bolt replacement horrto theinside-of the box frame-and bolt top strap to the top of the box
frame. Use the same top bolt that yo remove as shown.

Step4 Check alignment on the replacement bumper and tighten bolt.

Top Stra : Factory Bolt
Factory Bolt p Strap Tww‘ y

Top Dock

/ | [

Replace Frame

= ) . St -:_-l-:-::i i ATEL = €y \
’ ’ .
www.cattiemanhd.com



